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2N -mathematical contents-
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HREBER-English translation —
A big circle and a small one are in triangle.

It take 5.7733 and know the size of the large circle. | divide this by 3.

, <answer>
N IEDHIIC = &6 =} = B ED—I0Y SIS E : L : :
gfﬁggﬁfﬁéi;"'?/:j%%f’g,g@gg?M /3K SR Than an opinion in front. Large circle of the inside diameter is\/3/3
CNBDEZEEN ' SDIE =B DE A ECELI=EDLD T - _
ZEOTE X 6 = ABOES V3/3+3=3/3%1/3=y3/9
(43. 3) (259.8) - - -
QIEABBIEDEFEIXL59. 875D T\ [E=FFEDEFEIL 5 D129. 9, Diameter of small circle is /3/9
@=EDEZE(=FTEDEFENL45. 3
SNV BAFDIF= A 129. 9 EE5EIE= T
Il | put six triangles in original hexagon average
FEL 433 ¢ 1000 ob;%@zi;%% ;03 The reason why one side becomes /3 of the equilateral triangle of the
middle It is the area of the equilateral triangle is 1299 of half in the area
\ — of the original hexagon half.
\\\ ,/// The area of the equilateral triangle is
/ 1299 of half in the area of the original hexagon being 2598.
. N . . .
/ R t@R-2R Because six angles of fixed rules are the things
which did three angles of fixed rules 6time
Triangular fixed rule 6=Hexagonal fixed rule
T The triangular fixed rule
E oR‘Ehg]ISh translation- Both are equilateral thing
A big circle and a small one are in triangle. J
It take 5.7733 and k.anw thg size of the large circle. | can use the ratio
| divide this by 3. The equilateral triangle of the middle that | want to give now
<canswers> Are ratio 43.3 :129.9
Than an opinion in front. —=1:3
Large circle of the inside diameter is v3/3 Thus
3+3=,/3/3%,/1/3=,/3/9 . .
/ / / Similarity ratio=1=v3
| put six triangles in original hexagon average A person in charge Umeki Kanehara.
The reason why one side becomes /3 of the equilateral triangle of the middle =N A8 _ _ . _
It is the area of the equilateral triangle is 1299 of half in g t&b * JE&'“" Summary Impressmn
the area of the original hexagon half. % 35 th -Summary- *
The area of the equilateral triangle is 1299 of half in the " " . " .
area of the original hexagon being 2598. —EADOEER-ZAFZONADMHEE -/NATEEZZEL., =ZAFZOHF
Because six angles of fixed rules are the things which 0) = @ﬁ%éJ@Ld) Yé’&;}zy)f:o
did three angles of fixed rules 6time (Using a property, the hexagon fixed rule of the interior angle of a

Triangular fixed rule 6=Hexagonal fixed rule

The triangular fixed rule Pythagorean theorem, the triangle. | found size of circle in the triangle

and the length of the side.)

Both are equilateral thing

| can use the\l;atio * 8- lmpressl_'._?n- o o i —
FERNZFELT, TEOZAZFE->TRIRBICRYMAA ., MFEHEE
The equilateral triangle of the middle that | want to give now @;&Lé%%ﬂ l’) o~ LT:O ébl— J“(’;’c‘ﬂ%’&%/\/—CL\%T’L\—Cﬂ-

| (I worked on a problem using a theorem and a law and, through
Are ratio 42?,'3129'9 research, knew the pleasure of deciphering mathematics. Furthermore,
Thus | want to learn mathematics deeply.)
Similarity ratio=1=v3
Bt -

©5|F-Quotation- [EEDER Sanpou Hutsudankai
f7 8z 25 Murase Yoshimasu
167348 EFEITE In 1673 the first year of Eihou

< : [ £7(Group leader: Okano)

A person in charge kanehara




